Open Rubric

Assignment 02 Semester 2

ONLY FOR SEMESTER 2 STUDENTS

Assignment 02(Compulsory)
Due Date: 18 September
Unique number:680334

This assignment is a written assignment based on Study Guide 1 and 2
This assignment contributes 70% to your year mark.

Source:Paper May 2016
QUESTION 1

Find the general solutions of the following differential equations using D-operator

methods:
QmeS'_
1.1 D’y -3Dy =0 M -3 =o (3)
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\3 = Q™ v R e
1.2 (D-2)’ y = 606> x> (6)
1.3 (D2+D+1)y=x+sinx (7)
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QUESTION 2

Solve for y in the following set of simultaneous differential equations by using D-
operator methods:
(2D -1)x +(D+1)y=>5sint

(3D-1)x +(2D+ 1)y =¢' (8)
s [8]
QUESTION 3
3.1 Determine
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